



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 2nd Semester Morning Session: Autumn 2025

Registration #	Name	COM 111					ELIN 116					ELING 126					ELIT 115					ELIT 125					GEN 114				
		English-I					Introduction to Linguistics					Phonetics & Phonology					Introduction to Literature					History of English Literature-I					Introduction to International Relations				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-24/M/08	Areeba Akhtar	-	-	-	-	-	-	-	-	-	24	F	-	3	-	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-		
IS/BS/ENG/A-24/M/19	Ezharullah (Withheld due to Fee De	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BS/ENG/A-24/M/41	Noor Kazmi	50	D	1.5	3	4.5	-	-	-	-	24	F	-	3	-	-	-	-	-	-	55	C	2.0	3	6.0	71	B	3.0	3	9.0	
IS/BS/ENG/A-24/M/47	Sadia Khalil	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BS/ENG/A-24/M/52	Sufiyan Ali	-	-	-	-	-	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	
IS/BS/ENG/A-24/M/58	Zara Bilal	-	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0	50	D	1.5	3	4.5	71	B	3.0	3	9.0	-	-	-	-		
IS/BS/ENG/S-23/M/057	Shahzad Iqbal	-	-	-	-	-	-	-	-	-	32	F	-	3	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-		
IS/BS/ENG/S-24/M/032	Shahryar Ahmed Satti	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	-	-	-	-	-		
IS/BS/ENG/S-25/M/01	Akasha Altaf	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-		
IS/BS/ENG/S-25/M/02	Aqsa Ejaz	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-		
IS/BS/ENG/S-25/M/03	Daniyal Tariq	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BS/ENG/S-25/M/04	Esha Javed	-	-	-	-	-	-	-	-	-	89	A	4.0	3	12.0	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-		
IS/BS/ENG/S-25/M/05	Faiza Nisar	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	59	C	2.0	3	6.0	-	-	-	-		
IS/BS/ENG/S-25/M/06	Hadia Bashir	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-		
IS/BS/ENG/S-25/M/07	Horain Fatima	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BS/ENG/S-25/M/08	Insha Masood Abbasi	-	-	-	-	-	-	-	-	-	88	A	4.0	3	12.0	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-		
IS/BS/ENG/S-25/M/09	Isma Zia	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BS/ENG/S-25/M/10	Khadija Qadeer	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-		
IS/BS/ENG/S-25/M/11	Maryam Wasif	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-		
IS/BS/ENG/S-25/M/12	Misbah Aslam	-	-	-	-	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-		
IS/BS/ENG/S-25/M/13	Muhammad Khalil	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-		
IS/BS/ENG/S-25/M/14	Rimsha Nasir	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	-	-	-	-	-	82	A	4.0	3	12.0	-	-	-	-		
IS/BS/ENG/S-25/M/15	Saba Nisar	-	-	-	-	-	-	-	-	-	18	F	-	3	-	-	-	-	-	75	B+	3.5	3	10.5	-	-	-	-			
IS/BS/ENG/S-25/M/16	Sadiq Ali (Withheld due to Fee Def	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			
IS/BS/ENG/S-25/M/17	Samreen Kousar	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	66	C+	2.5	3	7.5	-	-	-	-		
IS/BS/ENG/S-25/M/18	Saqib Rasheed	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BS/ENG/S-25/M/19	Sawaira Bibi	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-		
IS/BS/ENG/S-25/M/20	Shahzad Ali	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-		
IS/BS/ENG/S-25/M/21	Sidra Anjum	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	76	B+	3.5	3	10.5	-	-	-	-		

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

BS (English) 2nd Semester Morning Session: Autumn 2025

		GEN-121					GEN-122					GEN-123					GEN-124				
		Ideology & Constitution of Pakistan					Expository Writing					Mathematics					Civics and Community Engagement				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/A-24/M/08	Areeba Akhtar	55	C	2.0	2	4.0	-	-	-	-	26	F	-	3	-	-	-	-	-	-	
IS/BS/ENG/A-24/M/19	Ezharullah (Withheld due to Fee De																				
IS/BS/ENG/A-24/M/41	Noor Kazmi	-	-	-	-	-	-	-	-	-	23	F	-	3	-	-	-	-	-	-	
IS/BS/ENG/A-24/M/47	Sadia Khalil	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	
IS/BS/ENG/A-24/M/52	Sufiyan Ali	17	F	-	2	-	50	D	1.5	3	4.5	-	-	-	-	66	C+	2.5	2	5.0	
IS/BS/ENG/A-24/M/58	Zara Bilal	66	C+	2.5	2	5.0	-	-	-	-	65	C+	2.5	3	7.5	80	A	4.0	2	8.0	
IS/BS/ENG/S-23/M/057	Shahzad Iqbal	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-24/M/032	Shahryar Ahmed Satti	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	
IS/BS/ENG/S-25/M/01	Akasha Altaf	90	A	4.0	2	8.0	80	A	4.0	3	12.0	55	C	2.0	3	6.0	83	A	4.0	2	8.0
IS/BS/ENG/S-25/M/02	Aqsa Ejaz	65	C+	2.5	2	5.0	60	C	2.0	3	6.0	57	C	2.0	3	6.0	70	B	3.0	2	6.0
IS/BS/ENG/S-25/M/03	Daniyal Tariq	55	C	2.0	2	4.0	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	70	B	3.0	2	6.0
IS/BS/ENG/S-25/M/04	Esha Javed	75	B+	3.5	2	7.0	85	A	4.0	3	12.0	87	A	4.0	3	12.0	84	A	4.0	2	8.0
IS/BS/ENG/S-25/M/05	Faiza Nisar	70	B	3.0	2	6.0	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	81	A	4.0	2	8.0
IS/BS/ENG/S-25/M/06	Hadia Bashir	70	B	3.0	2	6.0	55	C	2.0	3	6.0	61	C	2.0	3	6.0	75	B+	3.5	2	7.0
IS/BS/ENG/S-25/M/07	Horain Fatima	60	C	2.0	2	4.0	60	C	2.0	3	6.0	65	C+	2.5	3	7.5	75	B+	3.5	2	7.0
IS/BS/ENG/S-25/M/08	Insha Masood Abbasi	87	A	4.0	2	8.0	77	B+	3.5	3	10.5	77	B+	3.5	3	10.5	83	A	4.0	2	8.0
IS/BS/ENG/S-25/M/09	Isma Zia	85	A	4.0	2	8.0	72	B	3.0	3	9.0	78	B+	3.5	3	10.5	83	A	4.0	2	8.0
IS/BS/ENG/S-25/M/10	Khadija Qadeer	60	C	2.0	2	4.0	52	D	1.5	3	4.5	52	D	1.5	3	4.5	70	B	3.0	2	6.0
IS/BS/ENG/S-25/M/11	Maryam Wasif	70	B	3.0	2	6.0	60	C	2.0	3	6.0	51	D	1.5	3	4.5	67	C+	2.5	2	5.0
IS/BS/ENG/S-25/M/12	Misbah Aslam	65	C+	2.5	2	5.0	76	B+	3.5	3	10.5	50	D	1.5	3	4.5	80	A	4.0	2	8.0
IS/BS/ENG/S-25/M/13	Muhammad Khalil	65	C+	2.5	2	5.0	52	D	1.5	3	4.5	51	D	1.5	3	4.5	10	F	-	2	-
IS/BS/ENG/S-25/M/14	Rimsha Nasir	80	A	4.0	2	8.0	75	B+	3.5	3	10.5	81	A	4.0	3	12.0	82	A	4.0	2	8.0
IS/BS/ENG/S-25/M/15	Saba Nisar	65	C+	2.5	2	5.0	75	B+	3.5	3	10.5	53	D	1.5	3	4.5	81	A	4.0	2	8.0
IS/BS/ENG/S-25/M/16	Sadiq Ali (Withheld due to Fee Def																				
IS/BS/ENG/S-25/M/17	Samreen Kousar	75	B+	3.5	2	7.0	72	B	3.0	3	9.0	36	F	-	3	-	82	A	4.0	2	8.0
IS/BS/ENG/S-25/M/18	Saqib Rasheed	81	A	4.0	2	8.0	60	C	2.0	3	6.0	36	F	-	3	-	76	B+	3.5	2	7.0
IS/BS/ENG/S-25/M/19	Sawaira Bibi	50	D	1.5	2	3.0	67	C+	2.5	3	7.5	59	C	2.0	3	6.0	75	B+	3.5	2	7.0
IS/BS/ENG/S-25/M/20	Shahzad Ali	60	C	2.0	2	4.0	57	C	2.0	3	6.0	31	F	-	3	-	65	C+	2.5	2	5.0
IS/BS/ENG/S-25/M/21	Sidra Anjum	75	B+	3.5	2	7.0	86	A	4.0	3	12.0	70	B	3.0	3	9.0	82	A	4.0	2	8.0

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (English) 2nd Semester Morning Session: Autumn 2025

Registration #	Name	COM 111					ELIN 116					ELING 126					ELIT 115					ELIT 125					GEN 114				
		English-I					Introduction to Linguistics					Phonetics & Phonology					Introduction to Literature					History of English Literature-I					Introduction to International Relations				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/S-25/M/22	Sobia Khan	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	58	C	2.0	3	6.0	-	-	-	-	-	
IS/BS/ENG/S-25/M/23	Sumaira Arif (I-Grade in Math and E	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	-	-	-	-	-	57	C	2.0	3	6.0	-	-	-	-	-	
IS/BS/ENG/S-25/M/25	Fatima Zahra Kazmi	-	-	-	-	-	-	-	-	-	65	C+	2.5	3	7.5	-	-	-	-	-	51	D	1.5	3	4.5	-	-	-	-	-	
IS/BS/ENG/S-25/M/26	Tanawish Bibi	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	-	-	-	-	-	56	C	2.0	3	6.0	-	-	-	-	-	
IS/BS/ENG/S-25/M/27	Usman Iftikhar (Withheld due to Fe	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
BS (English) 2nd Semester Morning Session: Autumn 2025

		GEN-121					GEN-122					GEN-123					GEN-124				
		Ideology & Constitution of Pakistan					Expository Writing					Mathematics					Civics and Community Engagement				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
IS/BS/ENG/S-25/M/22	Sobia Khan	50	D	1.5	2	3.0	55	C	2.0	3	6.0	47	F	-	3	-	70	B	3.0	2	6.0
IS/BS/ENG/S-25/M/23	Sumaira Arif (I-Grade in Math and E	80	A	4.0	2	8.0	32	F	-	3	-	70	B	3.0	3	9.0	45	F	-	2	-
IS/BS/ENG/S-25/M/25	Fatima Zahra Kazmi	71	B	3.0	2	6.0	60	C	2.0	3	6.0	77	B+	3.5	3	10.5	81	A	4.0	2	8.0
IS/BS/ENG/S-25/M/26	Tanawish Bibi	56	C	2.0	2	4.0	51	D	1.5	3	4.5	61	C	2.0	3	6.0	70	B	3.0	2	6.0
IS/BS/ENG/S-25/M/27	Usman Iftikhar (Withheld due to Fe																				

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Controller of Exams

Result declaration date: 23/02/2026